Solve using square roots or by factoring
	1. x2 +7x +12 = 0
	8. 3x2 - 8x -11 =0

	2. x2 -17x +30 = 0
	9. 5x2+ 9x -18 = 0

	3. x2 -81 = 0
	10. 4x2 +7x +3 = 0 

	4. x2 +3x -10=0
	11. 12x2 + 8x +1 = 0

	5.  -x2 -5x -24 =0
	12. 9x2 +45x = 0

	6. x2 -7x = 0
	13. 8x2 =2x -15 = 0 

	7. 2x2 +11x +5 = 0
	14. x2 +10x +25 = 0

	15. 4x2 -49 = 0
	

	16. x2 = 64
	26. 70 -2x2 = 0

	17. x2 = 83
	27. 5x2 +2 = 3.8

	18. 7x2 = 91
	28. 49x2 = 16

	19. 3x2 =588
	29. 81x2 -100 = -99

	20. x2 -121 =0
	30. 8x2 -10 = -82

	21. 4x2 -9 = 35
	

	22. 5x2 +12 = 87
	

	23. 8x2 -82 = -10
	

	24. 3x2 + 4 = 64
	

	25. 5 + 16x2 = 117
	


	x=-4, x=-3
	x= 2, x = 15
	x= ± 9
	x= -5, x = 2
	x = -3, x = 8

	x = 0, x = 7
	x =-5,x =-1/2
	x=-1, x = 11/3
	x = -3, x = 6/5
	x = -1, x = -3/4

	x = -1/2, x = -1/6
	x= -5, x = 0
	x= -3/2, x = 5/4
	x = -5
	x = ±7/2

	x= ±8
	x= ±√83
	x= ±√13
	x= ±14
	x= ± 11

	x= ±√11
	x=±√15
	x= ±3
	No solution
	x= ±1/9

	x=±2.6 
	x= ±5.9
	x= ±0.6
	x= ±4/7
	x = ±4.5

	
	
	
	
	


Name:  ______________

  _______________

Solve using square roots or by factoring
	1. 5 + 16x2 = 117

	16. 4x2 -9 = 35

	2. 5x2 +12 = 87

	17. 5x2+ 9x -18 = 0

	3. x2 -81 = 0


	18. 4x2 +7x +3 = 0 

	4. x2 +3x -10=0


	19. 12x2 + 8x +1 = 0

	5.  x2 -5x -24 =0


	20. 9x2 +45x = 0

	6. x2 -7x = 0


	21. 8x2 =2x -15 = 0 

	7. x2 -17x +30 = 0

	22. x2 +10x +25 = 0

	8. 3x2 + 4 = 64

	23. 3x2 =588

	9. x2 = 83

	24. x2 -121 =0

	10. . 4x2 -49 = 0

	25. 5x2 +2 = 3.8

	11. 7x2 = 91


	26. 49x2 = 16

	12. 2x2 +11x +5 = 0

	27. 81x2 -100 = -99

	13. x2 +7x +12 = 0

	28. 8x2 -10 = -82

	14. 3x2 - 8x -11 =0

	29. x2 = 64

	15. 70 -2x2 = 0

	30. 8x2 -82 = -10


Answer Bank
	x= ± 12
	x= 2, x = 15
	x= ± 9
	x =-5,x =-1/2
	x= ±3

	x = 0, x = 7
	x= ±0.6
	x=-1, x = 11/3
	x = -3, x = 8
	x = -3, x = 6/5

	x = -1/2, x = -1/6
	x= -5, x = 0
	x= -3/2, x = 5/4
	x = -5
	x = ±7/2

	x=±2.6
	x= 0, x = 2
	x= ±√13
	x= ±14
	x= ± 11

	x= ±√83
	x=±√15
	x=-4, x=-3
	No solution
	x = ±4.5

	x= ±5.9
	x = 6
	x= ±4/7
	x= ±8
	x = 5

	x= ±1/9
	x= ±3/11
	x= ±√11
	x= -5, x = 2
	x = -1, x = -3/4


